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static final int ALPHABET _SIZE = 256;

static class TrieNode {
TrieNode[] children =
boolean 1sEndOfWord
TrieNode() {

new TrieNode [ALPHABET _SIZE];
false:

1sEndOfWord = false;
for (int 1 = 0; i < ALPHABET SIZE; i++)

children[i] =

null;



class TrieNode:

# Trie node class
def init (self):
self.children = [None] x ALPHABET SIZE

# 1sEndOfWord 1s True 1f node represent
# the end of the word
self.1sEndOfWord = False
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1. https://leetcode.com/problems/implement-trie-prefix-tree/#/description

2. https://leetcode.com/problems/word-search-ii/
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